

جواب

الف) $\sin^p \theta = 1 - \cos^p \theta \Rightarrow \cos^p \theta = 1 - \sin^p \theta$
 $\Rightarrow \frac{1 - \sin^p \theta - 1 - \sin^p \theta}{p} = 0 \Rightarrow \frac{-2 \sin^p \theta}{p} = 0 \Rightarrow \sin^p \theta = 0 \Rightarrow \sin \theta = 0$
 $\Rightarrow \theta = \{0, \pi\}$

ب) $\cos^p \theta = 1 + \cos^p \theta \Rightarrow \cos^p \theta - 1 = \cos^p \theta \Rightarrow \cos^p \theta + \cos^p \theta - 1 = 0$
 $\Rightarrow \frac{-1 \pm \sqrt{1 - 4}}{2} = \frac{-1 \pm \sqrt{-3}}{2} = \frac{-1 \pm i\sqrt{3}}{2}$
 $\Rightarrow \cos \theta = \frac{-1 \pm i\sqrt{3}}{2} \Rightarrow \theta = \{2\pi/3, 4\pi/3\}$

$$\begin{aligned}
 \text{ii)} \quad \sin^p x - \cos^p x &= 1 \quad (\sin^p x - \cos^p x) = P \sin^p x \cos^p x \quad (P) \\
 \Rightarrow \sin^p x - \cos^p x &= P \sin^p x \cos^p x (\sin^p x - \cos^p x) \Rightarrow \cos^p x = -\frac{1}{P} \sin^p x \\
 \Rightarrow x &= -\frac{1}{P} (Pk\pi + x) \Rightarrow x = -\frac{1}{P} x - \frac{k\pi}{P} \Rightarrow \frac{P+1}{P} x = -\frac{k\pi}{P} \Rightarrow x = -\frac{k\pi}{P+1} \\
 x &= -\frac{1}{P} (Pk\pi + x) \Rightarrow x = -\frac{k\pi}{P} - \frac{x}{P} \Rightarrow \frac{P+1}{P} x = -\frac{k\pi}{P} \Rightarrow x = -\frac{k\pi}{P+1}
 \end{aligned}$$

$$\begin{aligned}
 P \cos^p x - 1 &= -P \sin^p x \cos^p x \Rightarrow \cos^p x - \sin^p x = -P \sin^p x \cos^p x \Rightarrow \cos^p x = -\sin^p x \\
 -P x &= Pk\pi + Px \Rightarrow -x = Pk\pi \Rightarrow x = -Pk\pi/P
 \end{aligned}$$

$$\begin{aligned}
 \text{iii)} \quad \frac{\cos^p x}{\sin^p x} (P \cos^p x + 1) &= \frac{1}{\sin^p x} \Rightarrow \sin^p x \neq 0 \Rightarrow \cos^p x (P \cos^p x + 1) = 1 \quad (P) \\
 \Rightarrow P \cos^{2p} x + \cos^p x - 1 &= 0 \rightarrow \cos^p x = -1 \rightarrow Pk\pi + \pi \\
 &\rightarrow -\frac{P}{P} = +\frac{1}{P} \rightarrow Pk\pi + \pi/P
 \end{aligned}$$

$$\begin{aligned}
 \text{c)} \quad P - P \sin^2 \theta &= P \cos^2 \theta \Rightarrow P \cos^2 \theta = \cos^2 \theta - \sin^2 \theta \cos^2 \theta & (P) \\
 \Rightarrow \cos^2 \theta &= -\sin^2 \theta \cos^2 \theta \Rightarrow \cos^2 \theta = -\sin^2 \theta \Rightarrow P \cos^2 \theta = -P \sin^2 \theta & \Rightarrow P \theta = -P \cos^2 \theta \\
 &\Rightarrow \cos^2 \theta = 0 \Rightarrow P \cos^2 \theta = 0 & \Rightarrow \theta = -\cos^2 \theta
 \end{aligned}$$

$$\begin{aligned}
 \text{d)} \quad \left(\frac{\cos R}{P} \cos \theta - \frac{\sin R}{P} \sin \theta \right) \left(\cos \theta \cos R + \sin \theta \sin R \right) &= \frac{1}{\epsilon} & (P) \\
 \Rightarrow \frac{1}{P} \cos^2 \theta - \frac{1}{P} \sin^2 \theta &= \frac{1}{P} \Rightarrow \cos^2 \theta - \sin^2 \theta = \frac{1}{P} \Rightarrow \cos^2 \theta = \frac{1}{P} \\
 P \cos^2 \theta + P \sin^2 \theta &= \frac{1}{P} \Rightarrow \frac{1}{P} - P \cos^2 \theta = P \sin^2 \theta \Rightarrow \frac{1}{P} - \cos^2 \theta = \sin^2 \theta \\
 P \cos^2 \theta - P \sin^2 \theta &= \frac{1}{P} \Rightarrow P \cos^2 \theta = P \cos^2 \theta - \frac{1}{P} \Rightarrow \cos^2 \theta = \cos^2 \theta - \frac{1}{P}
 \end{aligned}$$

$$\begin{aligned}
 \text{e)} \quad \cos^2 \theta &\Rightarrow P \cos^2 \theta + P \sin^2 \theta = - (P \cos^2 \theta + P \sin^2 \theta) \Rightarrow P \cos^2 \theta + P \sin^2 \theta = -P \cos^2 \theta - P \sin^2 \theta \\
 -\sin^2 \theta &= \sin^2 \theta \\
 \Rightarrow \cos^2 \theta &= -\cos^2 \theta + \frac{1}{P} \Rightarrow \cos^2 \theta = -\cos^2 \theta + \frac{1}{P} \\
 P \cos^2 \theta - P \sin^2 \theta &= - (P \cos^2 \theta + P \sin^2 \theta) \Rightarrow P \cos^2 \theta + \frac{1}{P} - P \sin^2 \theta = -P \cos^2 \theta - P \sin^2 \theta \\
 \Rightarrow \cos^2 \theta &= -\cos^2 \theta + \frac{1}{P} \Rightarrow \cos^2 \theta = -\cos^2 \theta + \frac{2}{P}
 \end{aligned}$$

$$\sin f_{\theta} = p \sin \theta \cos \theta \Rightarrow \frac{p \sin \theta \cos \theta + \sin \theta}{p \cos \theta + 1} = \sin \theta \quad (*)$$

$$\Rightarrow p \cos \theta + 1 = \frac{\cos \theta}{\sin \theta} \Rightarrow \frac{\sin \theta}{p \cos \theta + 1} = 0 \Rightarrow p \cos \theta = \cos \theta$$

$$\Rightarrow p(k\pi + \theta) = \pi \Rightarrow k\pi + \theta = \pi \Rightarrow \theta = \pi - k\pi \Rightarrow \theta = \frac{\pi}{p} - k\pi$$

$$\Rightarrow p(k\pi - \theta) = \pi \Rightarrow k\pi - \theta = \pi \Rightarrow \theta = k\pi - \pi \Rightarrow \theta = k\pi - \frac{\pi}{p}$$

$$\frac{\sin \eta}{\cos \eta + 1} = \tan \frac{\eta}{p} \Rightarrow \frac{\cos \frac{\eta}{p} + 1}{\sin \frac{\eta}{p}} = \frac{\sin \eta}{\cos \eta} \quad (9)$$

$$\cos^p t + \cos t = \sin^p t \Rightarrow \cos^p t + \cos t = 1 - \cos^p t \Rightarrow p \cos^p t + \cos t - 1 = 0$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-1 \pm \sqrt{1 + p}}{1} \Rightarrow \cos t = -1 \quad | \quad \cos t = \frac{1}{p}$$

$$\cos \frac{\pi}{p} = -1 \quad \cos \frac{2\pi}{p} = -1 \quad \Rightarrow \quad \cos \frac{p\pi}{p} = -1$$

$$\cos \frac{\pi}{p} = \frac{1}{p} \quad \cos \frac{2\pi}{p} = \frac{1}{p} \quad | \quad \cos \frac{p\pi}{p} = \frac{1}{p} \Rightarrow \eta = \frac{p\pi}{p} \quad | \quad \eta = -\frac{p\pi}{p} \Rightarrow \frac{p\pi}{p} \cup \frac{-p\pi}{p}$$

$$\Rightarrow \left| \frac{p\pi}{p} - \left(-\frac{p\pi}{p} \right) \right| = \frac{2p\pi}{p}$$

$$1 - \underset{\substack{\uparrow \\ \sin^2 \theta}}{\cos^2 \theta} = -\sin^2 \theta \cos^2 \theta \Rightarrow \cos^2 \theta = -1 \rightarrow \begin{cases} \text{if } \theta = \frac{\pi}{2} \text{ then } \cos^2 \theta = 0 \\ \text{if } \theta = \frac{3\pi}{2} \text{ then } \cos^2 \theta = 0 \end{cases}$$

$$\sin^2 \theta = 0$$

$$\rightarrow \theta = \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\begin{aligned} \text{if } \theta = \frac{\pi}{2} \text{ then } \cos^2 \theta = 0 &\rightarrow \theta = \frac{\pi}{2} \\ \text{if } \theta = \frac{3\pi}{2} \text{ then } \cos^2 \theta = 0 &\rightarrow \theta = \frac{3\pi}{2} \end{aligned}$$

$$\rightarrow \theta = \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$\frac{\tan \theta - 1}{\tan \theta + 1} = \tan\left(\frac{\pi}{4} - \theta\right) = \tan \pi \Rightarrow k\pi + \frac{\pi}{4} = \frac{\pi}{4} - \theta \quad (1)$$

$$\Rightarrow \theta = \frac{\pi}{4} - k\pi \Rightarrow \theta = \frac{\pi}{4} - \frac{k\pi}{1} \Rightarrow \sqrt{1 + P \sin \theta \cos \theta} = \sqrt{P} (\cos \theta - \sin \theta) \Rightarrow |\cos \theta + \sin \theta| = \sqrt{P} \cos \theta \quad (2)$$

$$\downarrow \sin \theta + \cos \theta$$

$$\Rightarrow \sqrt{P} (\cos \theta + \sin \theta) = 1$$

$$\sqrt{P} (\cos \theta + \sin \theta) = -1$$

$$a) (\sin^2 \theta - \cos^2 \theta) \neq 1 \Rightarrow \sin^2 \theta - \cos^2 \theta = 1 = \sin^2 \theta + \cos^2 \theta \quad (1)$$

$$\Rightarrow P \cos^2 \theta = 0 \Rightarrow \cos^2 \theta = 0 \Rightarrow k\pi + \frac{\pi}{2} \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

$$-\cos^2 \theta = 1 \Rightarrow \cos^2 \theta = -1 \Rightarrow k\pi + \frac{\pi}{2} = \pi \rightarrow \pi, 3\pi$$

$$b) \sin^2 \theta - \cos^2 \theta = -1 \Rightarrow \begin{array}{l} \theta = 0 \rightarrow -1 \checkmark \\ \theta = \frac{\pi}{2} \rightarrow -1 \checkmark \\ \theta = \pi \rightarrow 1 \times \\ \theta = \frac{3\pi}{2} \rightarrow 1 \checkmark \end{array} \Rightarrow \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$